OPTION-C

[ Genetics and Plant Breeding)

Paper : BOT-RE- 50306

Answer the following questions : (any seven)

1x7=7

s ewraEa Sek T ¢ (Rt Aot

(a)

(b)

(c)

(d)

(e)

Who first coined the term ‘mutation’?

CTTrR WG FERAW (I IR FE?

What causes chromosome deficiency ?
wevE Tgees R4 [ e

What do you understand by homo-
zygous tall and homozygous dwarf ?

TEET o WF AEEEn A e B

e e
p

Define linkage maps.

AR qWhad ke @ |

Who first explained ‘monogenic
inheritance’?

‘arrgal aiafe’ @ e Ayl w2
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()

(4)

What is tautomeristm 7

oade fay

How many sets of chromosomes are

present in autotetraploids ?

YT oava @E5! (s arar

(h) Mention the characteristics of plasmid.
Uefiea tafez; Soa @

() Where is the centre of origin of crop
plants ?
oy Cfgra Beoifea @wza =20

() What is the cause of Klinefelter’s
syndrome’?
‘Klinefelter’s syndrome’ @5 &@& &7

(k) Give one example of male sterility in
plants. .
T s amred @by Swimad |

() What is lethal allele ?
o «fers e
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Answer the following : (any four)
2x4=8

were frm Riranen GiAD ewa T o o

fa) What is ‘Law of purity of Gametes’?
‘T Ruwel @@ e

(b) Define Pleiotropism.
‘Pleiotropism’¥ I faal |

{c) What do you understand by incomplete
dominance ?

e weTel e & goe
(d) What is nullisomy ?

‘Nullisomy’ &?

(e) Differentiate between Heterosis and
Inbreeding Depression.
(2053 oz Ui TG [RIEIR 2SR ey 4 |

(f)  What is distant by hybridization ?
72 A fay
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(g) Distinguish between complementary
and supplementary genes.

#4a% fom um sefas foma e Aren @)
(h) What is the advantage of pedigree

analysis ?

g farsraea Hfaa &2

Write short notés on : (any three)

59 (oil forat ¢ (R fetamn)

(@) Cytoplasmic Inheritance
(FEATA INGE

(b) Linkage
AZAAS!

(c) Mendelian Inheritance

AR aiss

(d) Acclimatization

sfifRfEfes wE
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(e) Chi-square

w1 3o

(fl Translocation

(g) Epistasis

-

Ry
(h) Budding

Answer the following : (any three)
10x3=30
TR THTRER TeR ¢ (R fofany)

faj Explain with the help of diagram the
meiotic behaviour of paracentric and

pericentric inversion. 5+5=10
T7EE B2 AR paracentric W

pericentric inversion 9, ZHYE (@19
[TETETR FINT AN T4 S5 1R 3 |

(b) Write about the salient features of the
chromosomal theory of inheritance.

MR &gl TemR g2 TR Pl

(c)

(d)

(e)

(9)
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Discuss the role of polyploidy in crop
improvement.

4«57 @) AweTs polyploidy a1 agwde
ot wrAG @54 |

What is crossing over? Discuss
cytological proof of crossing over with
the help of example. 2+8=10

fom fafer e Swigam wmae fom fAfema
I 2 ST %41 |

Give an account of the hybridization
techniques.

HeRORE (FPEEa R e e

With the help of suitable example
discuss polygenic inheritance.

Boge SUITER FRTACE IT 1@ AT
TG T4 |

Distinguish between Aneuploidy and

Euploidy. Describe in detail about the

different types of aneuploids.
3+7=10

Aneuploidy/'\’ilﬁ? Euploidy ¥ 2Ten ==y
Sfem 429/ aneuploids ©F 7T I aefer
&4 |



(h) What is induced mutation? Give an

account of physical mutagens.
2+8=10

sraifse Tesifdada @0 (Sifes Beolfaadamyza
fFEn wieEea F4 |
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